

$$y = \frac{n+r}{r^2 + r^2 - \Lambda n + r}$$

$$r^2 + r^2 - \Lambda n + r \neq 0$$

$$(n-1)(r^2 + \Delta n - r) \neq 0$$

$$(n-1)(n+r)(r-1) \neq 0$$

$$\hookrightarrow D_f = \mathbb{R} - \{1, -r, \frac{1}{r}\}$$

$$y = \frac{n+r}{n^2 - r^2 + rn - 1}$$

$$n^2 - r^2 + rn - 1 \neq 0$$

$$(n-1)(n^2 - n + 1) \neq 0$$

مبارك

$$\hookrightarrow D_f = \mathbb{R} - \{1\}$$

$$y = \frac{n+r}{r^2 + rn^2 + 1 \cdot n + r}$$

$$r^2 + rn^2 + 1 \cdot n + r \neq 0$$

$$(n+1)(r^2 + rn + r) \neq 0$$

$$(n+1)(n+r)(r-1) \neq 0$$

$$\hookrightarrow D_f = \mathbb{R} - \{-1, -r, -\frac{1}{r}\}$$

$$y = \sqrt{\frac{n+r}{n^2 - r^2 + rn - 1}}$$

$$\frac{n+r}{(n+1)(n^2 - n + 1)} \geq 0 \rightarrow \frac{-r}{+0 - \frac{1}{0} +}$$

$$\hookrightarrow D_f = (-\infty -r] \cup (1 + \infty)$$

$$y = \frac{r}{n^2 - \Delta(n-1) - rn + \Delta}$$

$$n \geq 1 \rightarrow n^2 - rn + 1 \neq 0 \rightarrow D_f = \mathbb{R} - \{r, \Delta\}$$

$$n^2 - \Delta(n-1) - rn + \Delta \neq 0 \rightarrow \begin{cases} n \geq 1 \\ n < 1 \end{cases} \rightarrow \begin{cases} n^2 - rn + 1 \neq 0 \\ n^2 + rn \neq 0 \end{cases} \rightarrow D_f = \mathbb{R} - \{0, -r\}$$

$$\hookrightarrow D_f = \mathbb{R} - \{-r, 0, r, \Delta\}$$

$$y = \frac{n+r}{|rn+1| - |n+r|}$$

$$|rn+1| - |n+r| \neq 0$$

$$|rn+1| \neq |n+r|$$

$$\varepsilon n^2 + \varepsilon n + 1 \neq n^2 + rn + r$$

$$rn^2 - rn - \Lambda \neq 0 \rightarrow D_f = \mathbb{R} - \{r, \frac{\varepsilon}{r}\}$$

$$y = \sqrt{|rn+1| - |n+r|}$$

$$|rn+1| - |n+r| \geq 0$$

$$rn^2 - rn - \Lambda \geq 0$$

$$\hookrightarrow D_f = (-\infty \frac{\varepsilon}{r}] \cup [r + \infty)$$

$$y = \log_r (1 - \log \frac{1}{r}) \rightarrow n > 0$$

$$1 - \log \frac{n}{r} > 0$$

$$\log \frac{n}{r} < 1$$

$$n > \frac{1}{r} = \frac{1}{r}$$

$$\hookrightarrow D_f = (\frac{1}{r} + \infty)$$

$$D_f = (0, r)$$

$$f(n) = \sqrt{\log_{\frac{1}{r}} \log_{\omega}^{(r-1)}} \quad r-1 > 0 \quad n > \frac{1}{r}$$

$$\log_{\omega}^{r-1} > 0 \quad r-1 > 1 \quad n > 1$$

$$\log_{\frac{1}{r}} \log_{\omega}^{r-1} \geq 0 \rightarrow \log_{\omega}^{r-1} \geq 1 \rightarrow r-1 \geq \omega \quad n \geq r$$

$$\log(r \cos x + 1)$$

$$r \cos u + 1 > 0$$

$$r \cos u > -1$$

$$\cos u > -\frac{1}{r}$$

$$\hookrightarrow D_f = \left(r\pi - \frac{\pi}{r}, r\pi + \frac{\pi}{r} \right)$$

$$\sqrt{\log \frac{n-1}{n+1}}$$

$$\frac{n-1}{n+1} > 0$$

$$n = (-\infty -1) \cup (1 + \infty)$$

$$\log_{\frac{n+1}{n-1}} \geq 0$$

$$\rightarrow \frac{n-1}{n+1} \geq 1$$

$$D_f = \emptyset$$

$$n \geq n+1 \rightarrow \text{غلط}$$

$$b = ?$$

$$f(n) = \sqrt{(a+r)n^2 + an + b}$$

$$D_f = (-\infty, r]$$

$$\begin{cases} a+r=0 \\ a=-r \end{cases} \left\{ \begin{array}{l} \text{برای اعداد صحیح} \\ \text{و فقط ریشه ۳ بار} \end{array} \right.$$

$$f(n) = \sqrt{-rn + b} \xrightarrow{n=r} -r(r) + b = 0 \quad b = r$$

$$m_{\max} - m_{\min} = ? \quad 1 - (-1) = 2$$

$$f(n) = \sqrt{n^2 + rn + r - m^2}$$

$$D_f = \mathbb{R}$$

$$n^2 + rn + r - m^2 \geq 0$$

$$(n+1)^2 + 1 - m^2 \geq 0 \quad \text{همیشه}$$

$$1 - m^2 \geq 0$$

$$-1 \leq m \leq 1$$

$$f(n) = \frac{\sqrt{\varepsilon - n^2}}{[n] + [-n] + 1} \rightarrow \varepsilon \geq n^2 \rightarrow -r \leq n \leq r$$

$$[n] + [-n] + 1 \neq 0$$

$$[n] + [-n] \neq -1$$

برای تمام اعداد صحیح درست است

چند عدد صحیح داشته باشد؟

$$-r, -1, 0, 1, r$$